



пять дробей, порядок действий со скобками

Имя: _____

Дата: _____ Оценка: _____

$$\left(\frac{3}{5} - \frac{3}{2}\right)^2 - \frac{1}{2}\left(\frac{2}{3} + \frac{1}{3}\right) =$$

$$\left(3 + \frac{2}{3}\right)^2 + \frac{1}{3} \times 5^2 + \frac{3}{4} =$$

$$\left(\frac{2}{5} - \frac{1}{2}\right)^2 + \frac{2}{5}\left(\frac{2}{5} + \frac{1}{6}\right) =$$

$$\left(\frac{2}{3} - \frac{1}{4}\right)^2 - \frac{2}{5}\left(\frac{2}{3} + \frac{1}{3}\right) =$$

$$\left(\frac{3}{5} + \frac{1}{3}\right)^2 - \frac{1}{2}\left(\frac{3}{4} - \frac{1}{2}\right) =$$

$$\left(\frac{3}{5} + \left(\frac{3}{2}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{3} + \frac{1}{2}\right)^2 =$$

$$\left(\left(\frac{1}{3}\right)^2 + \frac{2}{5}\right) \times \frac{1}{2} + \left(\frac{1}{2} - \frac{1}{3}\right)^2 =$$

$$\left(\left(\frac{1}{5}\right)^2 - \frac{1}{4}\right) \times \frac{1}{4} - \left(\frac{1}{3} - \frac{2}{3}\right)^2 =$$

$$\left(\frac{3}{4} - \left(\frac{3}{2}\right)^2\right) \times \frac{2}{3} + \left(\frac{1}{2} - \frac{1}{3}\right)^2 =$$

$$\left(4 + \frac{1}{3}\right)^2 - \frac{1}{2} \times \frac{1}{2} \times 3^2 =$$



пять дробей, порядок действий со скобками

Имя: _____

Дата: _____ Оценка: _____

$$\left(\frac{3}{5} - \frac{3}{2}\right)^2 - \frac{1}{2}\left(\frac{2}{3} + \frac{1}{3}\right) = \frac{31}{100}$$

$$\left(3 + \frac{2}{3}\right)^2 + \frac{1}{3} \times 5^2 + \frac{3}{4} = \frac{811}{36} = 22\frac{19}{36}$$

$$\left(\frac{2}{5} - \frac{1}{2}\right)^2 + \frac{2}{5}\left(\frac{2}{5} + \frac{1}{6}\right) = \frac{71}{300}$$

$$\left(\frac{2}{3} - \frac{1}{4}\right)^2 - \frac{2}{5}\left(\frac{2}{3} + \frac{1}{3}\right) = \left(-\frac{163}{720}\right)$$

$$\left(\frac{3}{5} + \frac{1}{3}\right)^2 - \frac{1}{2}\left(\frac{3}{4} - \frac{1}{2}\right) = \frac{1343}{1800}$$

$$\left(\frac{3}{5} + \left(\frac{3}{2}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{3} + \frac{1}{2}\right)^2 = \frac{263}{360}$$

$$\left(\left(\frac{1}{3}\right)^2 + \frac{2}{5}\right) \times \frac{1}{2} + \left(\frac{1}{2} - \frac{1}{3}\right)^2 = \frac{17}{60}$$

$$\left(\left(\frac{1}{5}\right)^2 - \frac{1}{4}\right) \times \frac{1}{4} - \left(\frac{1}{3} - \frac{2}{3}\right)^2 = \left(-\frac{589}{3600}\right)$$

$$\left(\frac{3}{4} - \left(\frac{3}{2}\right)^2\right) \times \frac{2}{3} + \left(\frac{1}{2} - \frac{1}{3}\right)^2 = \left(-\frac{35}{36}\right)$$

$$\left(4 + \frac{1}{3}\right)^2 - \frac{1}{2} \times \frac{1}{2} \times 3^2 = \frac{595}{36} = 16\frac{19}{36}$$